
import random
a= random.randint (1,99999)

p=0

ost=0

print(a)

if a%2 ==0
:

    if a%50
0
==0
:

        print(str(a/50
0
)
- " - po 50
0
")

    else:

        P=str (a//50
0
)

        ost=a%50
0

        P=(P+"-po 50
0
")

        print (P)

    if ost%10
0
==0
:

        S=ost/10
0

        print(S)

    else:

        S=str(ost//10
0
)

        ost=ost%10
0

        S=(S +"-po 10
0
")

        print(S)

    if ost%10
==0
:

        print(str(ost/10
)
+"-po 10
")

    else:

        D=str(ost//10
)

        ost=ost%10

        D=(D+"- po 10
")

        print(D)

    if ost%2==0
:

        print(str(ost/2)
+"-po 2")

    else:

        Dv=str(ost//2)

        print(Dv+"- po 2")

else:

    print ("nelzya")



